

Apartment in Swieqi



Swieqi, Sliema and St Julians Surroundings



€450,000

Reference No: 240271011-80

 Total Rooms: **7**

 Floor Area (m²): **120**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - Swieqi

Swieqi - APARTMENT in Swieqi, located in a quiet and residential area, close to all amenities. Property comprises of a welcoming entrance leading to a spacious combined living/dining, separate kitchen, 3 double bedrooms, one with en suite shower and a main bathroom. Complimenting this property is front & back terrace ideal for entertaining. Optional 2 car garage.

Features

- ✓ Ceramic Floor
- ✓ Water Utility
- ✓ Skirting
- ✓ En Suite
- ✓ Electricity Utility
- ✓ Terrace

Rooms

- ✓ Kitchen : 4 x 4 m (16 m2)
- ✓ Living/Dining : 3.7 x 6.7 m (24.79 m2)
- ✓ Double Bedroom : 3.4 x 3 m (10.2 m2)
- ✓ Double Bedroom : 3 x 5.8 m (17.4 m2)
- ✓ Double Bedroom : 4.7 x 3 m (14.1 m2)
- ✓ Hallway : 1.1 x 4.5 m (4.95 m2)
- ✓ Bathroom : 2.6 x 1.7 m (4.42 m2)
- ✓ Shower Ensuite : 2 x 2 m (4 m2)

Gallery







Dean Camilleri

RE/MAX South - Marsascala

M: 99838181

E: dean@remax.com.mt

T: 21555000

RE/MAX South - Marsascala

53, Triq is-Salini, Marsascala, Malta